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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
TER 2RI Ty foa

(@) Mention one need for studying
economics.

SeffEEr ST OBl AcEATel SeEd T4 |

(b} Define market economy.

e Sl wge 7 |
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(2)

(c) What is elastic demand?

RfSwrr oitm 9

(d) Draw the perfectly inelastic supply curve,
ooy AR @I @RTo S |

(e) Define an inferior good.

8 AR s7ze fira o

(i What is income consumption curve?
o ergerer G4t 2

(9) Distinguish between short run and lon,
run with the help of fixed ang :

costs. variable
& o ARSI I R

RS 5T
% e “N6w Refy 337 |

(h) What is producer’s surplus?
Sy Tge [ 9

() “Supply curve is not
monopoly.” Why? relevant for

ﬁw@mﬂmmmﬁwﬂﬁl”
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(3)

() Why is the average fixed cost curve
rectangular hyperbola?

15 &9 I @ 5 SRR R[S W72

. Answer the following questions briefly : 2x5=10

o] 2CART 5y e faa -

(a) Distinguish between positive economics
and normative economics.

fffer SR T AR @7 T
of1efF AT F0 1

(b) State two exceptions of the law of
demand.

sifr R 751 AReTe Bea 1 |

(c) Distinguish between ‘change in demand’
and ‘change in quantity demanded’.

I R’ o PR o AResa’T
qrere o T |

(d) Prove that two indifference curves do not
intersect each other.

oG I @ [OE FerE (IR IR IR
GG |
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(4)

(e) Why is the long-run average cost curve

‘U’ shaped?
AR oIT T @O U’ wpfes e = e

3. Answer any four of the following questions :

Sx4=20

Wmﬁmﬁﬁmwm:

(a) What is budget line? Why does the

(b)
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budget line slope downwards?

ammﬁs?mmﬁwwaﬂﬁm
9

Distinguish between normal goods,

substitute goods and complementary
goods.

Wwﬂ.,ﬁwmﬁtwﬁmmﬁﬁa
TS <196 el 3041 |

What is monopoly? Explain why the
marginal revenue curve of a monopoly
lies below its average revenue curve.

RFCHBA IWRR IR Al | GosiBan w2
R4 R AT W (IR S S w0,
A F0

( Continued )

(@)

(e)

4. Answer the following questions :

(S)

Explain the behaviour of profit
maximizing firms with the help of
marginal revenue and marginal cost
approach.

AT o W T IRE YRR TS S
AT 1 ARSI S5 7RI ] |

Explain that substitution effect is always
negative.

Y F9 @ 2AfSFH ReAe Fwr e |

Derive demand curve for a Giffen good.

e SR W @ FEE R T,
i

10x4=40

o 2P e

(a) Explain how the price system allocates
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resources. 10

W IRER (@R TR SRET I, I
9
Or / 91

What are the main problems of an
economy? How does a free economy solve
them? _ . 3+7=10
@ @ TR & R 1@ Sdafes
IRER IR TR (FCTHCI ST I ?
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(6) (7)
(b) What is price elasticity of demand? What (d) What is price rationing? Analyze the
are its determinants? Discuss. 3+7=10 impact of price rationing on the market; 8-10
+8=
SRR v fERee 0 TR ez &
2 =Ceten 90 | 7 el R 7 T IFSEX o JHRT GO PRA
ofqr 2o R 39|
Or / 5211 Or/ &%l
Explain the concept of marginal rate of Discuss the factors responsible for shift
substitution with the help of diagram. in the demand and supply curves. 5+5=10
Why does marginal rate of substitution ' FAERS (ZRE TATPIR
el 4 |
fiaq e e AfSTsR T qRAws I }
341 | e Afeesd T R TrrEm =0
| * * K
\
!
(c) Explain the determination of wages |
under competitive labour market. 10
sferaiorEe TH Iowe WR e afim
EHEHIEEIN
Or / 11
Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=10
Soqid SR (FUR JRATE I T | oA
s (T4 TEBRS (YR FRITR S
741 1
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